DATE:

Limits at Infinity — Multiple Choice

B 1. Evaluate: llm-—

X—»m & x

(D) 2
(E) Nonexistent

3. lim is:
x—3—c0 201@_ O
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(B) -1
©)0
(D)3
(E) 0
2x? 23
4. The graphof y = T has

1
.T}&) a horizontal asymptote at y = 2 but no vertical asymptote

no horizontal asymptote but two vertical asymptotes, at x =0 and x = 1

. 1 .
(C) 3 horizontal asymptote at y = 5 and two vertical asymptotes, atx =0 and x = 1
}B&a horizontal asymptote at x = 2 but no vertical asymptote
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“('El’a horizontal asymptote at y = = and two vertical asymptotes, at x = £1



